T Series
Ticket 15

Version 5.0

Assembly Guide

¢> sprocket.




H

I

M2.5x10

X2

A B c D E F G

T T U & v Cg
M5x10 M4x10 M6x16 M4x6 M3x8 10Gx25
X6 x9 x4 x4 x4 x1 x4



¢ sprocket.



STEP 2.5

I g

¢ sprocket.



STEP 3,5

¢ sprocket.



STEP 4/

¢ sprocket.



STEP 5,9

¢ sprocket.



I

B

i N\\\\\\%N\\\%&Nﬂv

o
~ .
(o < =
1 \ ﬂv s,
al -
LL) —\
= fe == 3
n = [T [T
O




STEP 79

&

il

¢ sprocket.



STEP 8,9

Portability option

Bolt-down option

*screws not provided |

¢ sprocket.



STEP 9,5

Care & Maintenance

¢ sprocket.



